Solutions to Problems

The following pages contain my solutions to selected problems from Engineering
Mechanics, Dynamics, 10t Edition, R. C. Hibbeler, Pearson Prentice Hall, 2004,
pp. 655-670.

Chpt. 12.
Chpt. 13.
Chpt. 14.
Chpt. 15.
Chpt. 16.

Chpt. 17:

Kinematics of a Particle

Kinetics of a Particle: Force and Acceleration
Kinetics of a Particle: Work and Energy
Kinetics of a Particle: Impulse and Momentum
Planar Kinematics of a Rigid Body

Planar Kinetics of a Rigid Body: Force and Acceleration
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